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Then

If  and , then

The critical  that minimizes  is (check!)

And, the corresponding error is (check!)
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Recall

By the same assumptions and arguments as #1, we have

and

HW #2.
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Consider

and
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Let  and . Then  is an 
 approximation to . (Why?)

Textbook §4.2 #10.
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(a)
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(c) Let  and . Then 
,  and 
.  is an  approximation satisfying 

.

THe assumption is not correct since some coefficients  must be zero. For example,
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(e) Let

Replacing  by  gives
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(f) Let
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Run the following code. Then you will find the solution .

N	=	@(h)	((2+h)/(2-h))^(1/h);
p1	=	log2((exp(1)-N(0.02))/(exp(1)-N(0.01)))

HW #5.
≈ 2p1



By assumption,

and

Therefore, Simpson's rule gives

Textbook §4.3 #14.

Trapezoidal rule ⇒ f (0) + f (2) = 5

Midpoint rule ⇒ 2f (1) = 4.
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Let . Then the equality

holds for  and doesn't hold for . (Why?)

Therefore, the degree of precision is 3.

Textbook §4.3 #19.
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Let . Then the equality

holds for  and doesn't hold for . (Why?)

Therefore, the degree of precision is 2.
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Since the formula doesn't hold for  (check!), the degree of precision is 2.
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Since the formula holds for  but not for  (check!), the degree of precision is 3.
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